
Domácí úkol – 8. ročník 
 

č.3 
1. Vypočítej: 

1% z 600 = 

1% z 0,4 = 

1% z 95 000 = 

1% z 0,08 = 

1% z 16,8 =  

1% z 23 = 

 

2. Vypočítej: 

30% z 600 = 

 

 

25% z 1,2 = 

 

 

48% z 1 500 = 

 

 

3,9% z 26 =  

 

 

100% z 0,9 = 

 

 

150% z 6 =

3. Vypočítej základ, víš-li, že 

20% je 60 

 

 

5% je 1,8 

 

 

50% je 23,6 

 

 

2,5% je 0,03 

 

 

10% je 0,9 

 

 

45% je 162 

 

 

4. Urči, kolik procent je 

20 z 60 = 

 

 

900 z 1 800 = 

 

 

0,23 z 23 = 

 

 

5 z 25 = 

 

 

2,7 z 54 = 

 

 

2 340 z 5 200 = 

 

5. Doplň tabulku 

procentová 

část celku 

vyjádřená 

zlomkem     
5

4
  

4

3
   

des. číslem  0,06  0,25  0,5   1 

procenty 2%  20%     80%  

 


